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User ages calculation

As part of the questionnaire, we collect the following data points to calculate children’s user age:
. The real current age of the child
. That they use at least 1 app/site from the list we have in our questionnaire

. That the child has their own profile on the app(s)/site(s) they use

To determine what age they have on their profile for the apps/sites they use — we then calculated their user age with the following data
points:

. The real current age of the child
. How long they have had a profile on the site/app
. What age they used when setting up the account or, if they had changed their DOB, what age they have changed their profile to

now
. A range of scenarios were considered and applied depending on the answers provided by children
. All scenarios considered are included in this pack

There are a list of caveats to take into consideration when reviewing our calculations — please refer to the main chart pack for these
which you can find here.


https://www.ofcom.org.uk/siteassets/resources/documents/research-and-data/online-research/keeping-children-safe-online/childrens-online-user-ages/2024-nov/ofcom-childrens-user-ages-2024-wave-3-chart-pack-.pdf

Scenario 1- A child over 13 that said they entered their actual age at set up

Scenario 1

age

age

Length of time on DOB at set up Actual age of child Assumption USER AGE Example
profile (Q3) (Q8/Q8a) (P3)
17 D101 E1E G U User age = actual Jc(ljetiS 1f7t;'htehenrt1ered hi?‘lacmal
N/A was their actual 13-17 N/A & ate ot birth when protiie was

set up - therefore, his user age
is 17.

Scenario 2 - A child under 13 that said they entered their actual age at set up
(but we know this can’t be the case, so we assumed they entered 13 at set

up)

Scenario 2 (1)

Between 0-5
months

If DOB at set up
was their actual
age

Under 13

Child cannot have put
actual age as their DOB
at set up, therefore
assume they put age 13.
Assume length of time
on profile as 0 years

User age =
13 plus length of
time on profile

Joe is 9, he said he entered his actual date of
birth when profile was set up - which can't be
true as they have to have a minimum user age
of 13. We therefore assume his joining age is
13.
He's been on the platform for 0 years;
therefore, his user age is 13.

Scenario 2 (2)

Between 6-11
months

If DOB at set up
was their actual
age

Under 13

Child cannot have put
actual age as their DOB
at set up, therefore

assume they put age 13.

Assume length of time
on profile as 1 year

User age =
13 plus length of
time on profile

Joe is 9, he said he entered his actual date of
birth when profile was set up - which can't be
true as they have to have a minimum user age
of 13. We therefore assume his joining age is
13.
He's been on the platform for 1 year;
therefore, his user age is 14.




Scenario 2 - A child under 13 that said they entered their actual age at set up
(but we know this can’t be the case, so we assumed they entered 13 at set

up)

Scenario 2 (3)

Scenario 2 (4)

Scenario 2 (5)

Length of time on DOB at set up Actual age of child Assumption USER AGE Example
profile (Q3) (Q8/Qs8a) (P3)
£ DOB chid cannot have put U e e e el !
Between 1_5 O at set Up actual age as their DOB el age - true as they have to have a minimum user age
was their actual Under 13 at set up, therefore 13 pIUS Iength of of 13. We therefore assume his joining age is
ears . . 13.
y age assume ty;y putage time on pr0f| Ie He's been on the platform for 3 years;
. therefore, his user age is 16.
Child cannot have put Jpe is9, he said'he entered his act'ual date of
) birth when profile was set up - which can't be
More than 5 If DOB at set up actual age ashthe}'_’ bos User age = true as they have to have a minimum user age
. at set up, therefore of 13. We therefore assume his joining age is
— was their actual Under 13 assume they put age 13, 1?f plus Iength of 13
age Assume length of time time on profile s S e S (IR 975 1REE
on profile as 6 years therefore, his user aglesls 19 which equates to
+
Joe is 9, he said he entered his actual date of
Child cannot have put birth when profile was set up - which can't be
If DOB at set up actual age as their DOB User age = true as they have to have a mlnlmum user age
Don’t remember was their actual Under 13 at set up, therefore o 112 of 13 We therefore assume s Joining 2ge 15
at leas :

age

assume they put age
13.

He can’t remember how long he has had the
profile, therefore we assume minimum of 0
years, so his user age is at least 13.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (1)

Scenario 3 (2)

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put Joe is 9, he said he entered a date of birth
under 13 as their DOB at User age - 13 which.made him 11 when profile was set up -
Between 0-5 set up, therefore assume wP.uc.h can't be true they have to have a
- Under 13 |US Ien th of minimum user age of 13. We therefore
10-12 they put age 13 P g
months ey putage : . . assume his joining age is 13.
Assume length of time time on prOfI le He's been on the platform for 0 years;
on profile as O years. therefore, his user age is 13.
1) If the user age is above or equals the actual
age: Joe is 13, he said he entered a date of
1) User age =13 birth which made him 12 when profile was set
plus Iength of up - which can't be true they have to have a
ti fil (|f minimum user age of 13. We therefore
e el (A e assume his joining age is 13.
the user age Is He's been on the platform for 0 years;
. above or equals therefore, his user age is 13.
Child cannot have put the actual age)
under 13 as their DOB at g 2) If the user age is lower than the actual age:
Between 0_5 set up, therefore assume Joe is 15, he said he entered a date of birth
10—12 13-17 P, f 2 User age = 13 which made him 12 when profile was set up -
they put age 13 g
months y put ag : plus length of which can't be true they have to have a
Assume length of time . . minimum user age of 13. We therefore
on profile as 0 years. time on profile (If assume his joining age is 13.
the user age is He's been on the platform for 0 years;
lower than the therefore, his user age is 13.
However, his user age now is lower than his
actual age) actual age, because the research only looks at
Excluded from children whose user age is older than their
calculation actual age, this case will be excluded from the
- user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social
media profile have a user age that is older than their actual age

Scenario 3 (3)

Scenario 3 (4)

Assume length of time
on profile as 1 year.

plus length of
time on profile (If
the user age is
lower than the
actual age)
Excluded from
calculation

Lengthof timeon  DOB atset up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put Joe is . he said h dad birth which
. oe is 9, he said he entered a date of birth whic
Between 6 11 untder 151 as ;helr DOGlac User age = 13 made him 11 when profile was set up - which can't
- _ set up, therejore assume be true they have to have a minimum user age of
months 10-12 Under 13 they put age 13. pIUS |ength of 13. We therefore assume his joining age is 13.
Assume length of time t|me He's been on the platform fpr 1 year; therefore, his
on profile as 1 year. user age s 14.
1) User age = 13 _
1) If the user age is above or equals the actual age:
plus Iength of Joe is 13, he said he entered a date of birth which
time on profile (|f made him 12 when profile was set up - which can't
the user age is be true they have to have a minimum user age of
b | 13. We therefore assume his joining age is 13.
Child cannot have put ih:vaecfl:ji:ae)s He's been on the plIJast‘::);rgefic;rllllyear; therefore, his
under 13 as their DOB at '
Between 6-11 set up, therefore assume 2) If the user age i :
b _ ge is lower than the actual age:
months 10-12 13-17 they put age 13. 2) User age =13 Joe is 15, he said he entered a date of birth which

made him 12 when profile was set up - which can't
be true they have to have a minimum user age of
13. We therefore assume his joining age is 13.
He's been on the platform for 1 year; therefore, his
user age is 14. His user age is now lower than his
actual age . However, because the research only
looks at children whose user age is older than their
actual age, this case will be excluded from the user

age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (5)

Scenario 3 (6)

13.

time on profile (If
the user age is
lower than the
actual age)
Excluded from
calculation

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put qu is9, he s.alid he entered aidate of birth
. User age - 13 which made him 11 when profile was set up -
Between 1_5 under 13 as their DOB which can't be true they have to have a
10-12 U nder 13 at set up, therefore pl us Iength Of minimum user age of 13. We therefore
years assume they put age . assume his joining age is 13.
time He's been on the platform for 2 years;
13. therefore, his user age is 15.
1) If the user age is above or equals the actual
_ age: Joe is 15, he said he entered a date of
1) User age =13 birth which made him 12 when profile was set
pIUS Iength of up - which can't be true they have to have a
time on profile (If minimum user age of 13. We therefore
: assume his joining age is 13.
the user agels He's been on the platform for 4 years;
above or equals therefore, his user age is 17.
Child cannot have put the actual age)
under 13 as their DOB 2) If the user age is lower than the actual age
Between 1'5 13 17 h _ Joe is 15, he said he entered a date of birth
ears 10'12 - atsetup, t erefore 2) User age =13 which made him 12 when profile was set up -
Yy assume they put age plus length of which can't be true they have to have a

minimum user age of 13. We therefore
assume his joining age is 13.

He's been on the platform for 1 year,
therefore, his user age is 14.
However, his user age now is lower than his
actual age, because the research only looks at
children whose user age is older than their
actual age, this case will be excluded from the

user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Length of time on
profile (Q3)

DOB at set up (Q8a)

Actual age of child

(P3)

Assumption

USER AGE

Example

Scenario 3 (7)

More than 5
years

10-12

Under 13

Child cannot have put
under 13 as their DOB at
set up, therefore assume

they put age 13.

Assume length of time

on profile as 6 years.

User age =13
plus length of
time on profile

Joe is 9, he said he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.

He's been on the platform for 6 years; therefore, his
user age is 19, which equates to 18+.

Scenario 3 (8)

More than 5
years

10-12

13-17

Child cannot have put
under 13 as their DOB at
set up, therefore assume

they put age 13.

Assume length of time

on profile as 6 years.

User age =13
plus length of
time

Joe is 17, he said he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.

He's been on the platform for 6 years; therefore, his
user age is 19, which equates to 18+.

Scenario 3 (9)

Don’t remember

10-12

Under 13

Child cannot have put
under 13 as their DOB
at set up, therefore

User age = at

Joe is 9, he said he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.

Scenario 3 (10)

Don’t remember

10-12

13-17

|east 13 He doesn’t know/can’t remember how long he has
assume they pUt age had the profile, therefore we assume minimum of 0
13. years, so his user age is at least 13.

1) If the user age is above or equals the actual age: Joe is 13,
1) User age = at IeaSt he said he entered a date of birth which made him 12 when
profile was set up - which can't be true they have to have a
13 (If the user age minimum user age of 13. He doesn’t know/can’t remember

is above or equals how long he has had the profile, therefore we assume
minimum of 0 years. We therefore assume his joining age is

Child cannot have put o ersiive] i) 3
p 2) If the user age is lower than the actual age:

under 13 as thel'r DOB at Joe is 15, he said he entered a date of birth which made him

set up, therefore
assume they put age 13.

2) User age = at least
13 (If the user age
is lower than the
actual age)
Excluded from
calculation

11 when profile was set up - which can't be true they have to
have a minimum user age of 13. We therefore assume his
joining age is 13.

He doesn’t know/can’t remember how long he has had the
profile, therefore we assume minimum of 0 years, so his user
age is at least 13.

However, his user age now is lower than his actual age,
because the research only looks at children whose user age is
older than their actual age, this case will be excluded from the
user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (11)

Scenario 3 (12)

Length of time on DOB at set up (Q8a) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
_ Joe is 9, he said he entered a date of
Between 0-5 Assume length of time User age = age at birth which made him 14 when profile
13-17 Under 13 n profile as 0 year set up plus length || wassetup. He's been on the platform for
months Sl Pl 25 U/ Ee fti fil 0 years; therefore, his user age is at least
of time on prortiie 14.
1) If the user age is above or equals the
1) User age = age at actual age: Joe is 15, he said he entered a
st s el date of birth which made him 16 when
| h ? p profile was set up. He's been on the
engt 'O time on platform for 0 years; therefore, his user
profile (If the age is at least 16.
user age is above
or equals the 2) If the user age is lower than the actual
actual age) age: Joe is 15, he said he entered a date
Between 0-5 ; of birth which made him 14 when profile
13-17 13-17 A Uil i Gl T2 was set up. He's been on the platform for

months

on profile as 0 years

2) User age = age at
set up plus

length of time on
profile (If the

user age is lower

than the actual
age) Excluded

from calculation

0 years; therefore, his user age is at least
14
However, his user age now is lower than
his real age, because the research only
looks at children whose user age is older
than their actual age, this case will be
excluded from the user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Length of time on
profile (Q3)

DOB at set up (Q8a)

Actual age of child
(P3)

Assumption

USER AGE

Example

Scenario 3 (13)

Between 6-11
months

13-17

Under 13

Assume length of time
on profile as 1 year

User age = age at
set up plus length
of time on profile

Joe is 9, he said he entered a date of
birth which made him 14 when profile
was set up. He's been on the platform for
1 year; therefore, his user age is 15.

Scenario 3 (14)

Between 6-11
months

13-17

13-17

Assume length of time
on profile as 1 year

1) User age = age at
set up plus length
of time on profile
(If the user age is

above or equals
the actual age)

2) User age = age at
set up plus length
of time on profile
(If the user age is

lower than the
actual age)

Excluded from
calculation

1) If the user age is above or equals the
actual age: Joe is 15, he said he entered a
date of birth which made him 16 when
profile was set up. He's been on the
platform for 1 year; therefore, his user
age is at least 17

2) If the user age is lower than the actual
age: Joe is 15, he said he entered a date
of birth which made him 13 when profile
was set up. He's been on the platform for
1 year; therefore, his user age is at least
14
However, his user age now is lower than
his real age, because the research only
looks at children whose user age is older
than their actual age, this case will be
excluded from the user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (15)

Scenario 3 (16)

Scenario 3 (17)

Scenario 3 (18)

Length of time on . ,
: . DOB at set up (Q8a) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
User age = age at Joe is 9, he said he entered a date of birth
which made him 14 when profile was set up.
Between 1_5 years 13_17 Under 13 set Up pIUS length He's been on the platform for 2 years;
Of tlme on profile therefore, his user age is 16.
1) If the user age is above or equals the actual
1) User age = age at age:Joe is 15, he said he entered a date of
set up plus length birth which made him 16 when profile was set
of time on profile (If up. He's been on the platform for 2 years;
the user age is therefore, his user age is 18.
above or equals the
actual age) 2) If the user age is lower than the actual age:
Between 1 5 Joe is 15, he said he entered a date of birth
- _ which made him 13 when profile was set up -
yea rs 13'17 13-17 2) User age = age at We therefore assume his joining age is 13.
SeF up plus Ien.gth He's been on the platform for 1 year,
of time on profile (If therefore, his user age is 14.
the user age is However, his user age now is lower than his
lower than the actual age, because the research only looks at
actual age) children whose user age is older than their
Excluded from actual age, this case will be excluded from the
ke user age calculation
Joe is 12, he said he entered a date of
Assume length of time User age = age at birth which made him 13 when profile
More than 5 years 13-17 Under 13 e as 6 set up plus length was set up. He's been on the platform for
on profile as 6 years of time on profile 6 years; therefore, his user age is 19,
p which equates to 18+.
_ Joe is 15, he said he entered a date of
. User age = age at birth which made him 16 when profile
Assume length of time \
More than 5 years 13-17 13-17 set up plus length || wassetup. He's been on the platform for

on profile as 6 years

of time on profile

6 years; therefore, his user age is 22,
which equates to 18+.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (19)

Scenario 3 (20)

Scenario 3 (21)

Scenario 3 (22)

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Joe is 9, he said he entered a date of
User age = at birth which made him 13 when profile
’ _ was set up. We don’t know how long he
Don’t remember 13-17 Under 13 least age at set has been on the platform, so we assume
up user age matches his age at set up which
is at least 13 in this example.
1) If the user age is above or equals the actual
1) User age = at least age: Joe is 13, he said he entered a date of
birth which made him 16 when profile was set
e Se_t up (If the up. We don’t know how long he has been on
user age Is above or the platform, so we assume user age matches
equals the actual his age at set up which is at least 16.
2) If the user age is lower than the actual age:
aEE) Joe is 15, he said he entered a date of birth
’ _ _ which made him 13. We don’t know how long
Don t remember 13 17 13 17 2) User age = at least he has been on the platform, so we
age at set up (If the assume user age matches his age at set up
user age is lower which is at least 13.
But now his user age is lower than his actual age,
than the actual age) because the research only looks at children whose
Excluded from user age is older than their actual age, this case_will
calculation be excluded from the user age calculation
Assume length of time bJ.oehis E;, h: saij hﬁientle;redha date 1?|f
Between 0_5 nor II m User a e = at irth which made him when protile
18+ Under 13 0 Dﬁz)gf 2EE 0, 05538 € 8 was set up. He's been on the platform for
months at set up as least 18 0 years; therefore, his user age is at least
years 18.
Assume length of time J(.)e is 15', he said he. entered a date 9f
Between 0-5 on profile as 0, assume User age = at birth which rrl1ade him 18 when profile
18+ 13-17 DOB 18 was set up. He's been on the platform for
months at set up as least 18 0 years; therefore, his user age is at least
years 18.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (23)

Scenario 3 (24)

Scenario 3 (25)

Scenario 3 (26)

years

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Assume length of time l:)J'oehis S:], h: saij hf].entlesredha date ;_)If
_ . Usera e=at irth which made him when profile
Between 6-11 18+ Under 13 on profge Zs 1 year, g was set up. He's been on the platform for
months assume DOB at set up least 18 1 year; therefore, his user age is 19 which
as 18 years equates to 18+.
Assume length of time gf)ehis 1}?., l;e saidd hhe. enltgrec:] a dateffo
) . User age = at irth which made him 18 when profile
Between 6-11 18+ 13-17 on profile as 1 year, g was set up. He's been on the platform for
months assume DOB at set up least 18 1 year; therefore, his user age is 19 which
as 18 years equates to 18+.
Joe is 9, he said he entered a date of
_ User age = at birth which made him 18 when profile
Between 1-5 18+ Under 13 Assume _?805 at set up g was set up. He's been on the platform for
years as lo years least 18 2 years; therefore, his user age is 20
which equates to 18+.
Joe is 15, he said he entered a date of
) User age = at birth which made him 18 when profile
Between 1-5 18+ 13-17 Assume DOB at set up 8 was set up. He's been on the platform for
as 18 years least 18

2 years; therefore, his user age is 20,
which equates to 18+.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (26)

Scenario 3 (27)

Scenario 3 (28)

Scenario 3 (29)

Length of timeon  DOB atsetup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Assume length of time Joe is 9, he said he entered a date of
More than . User age = at birth which made him 18 when profile
ore than 5 18+ Under 13 on profl/DeOan L 8 was set up. He's been on the platform for
years ZEELE atset up least 18 6 years; therefore, his user age is 24,
as 18 years which equates to 18+.
Assume length of time Joe is 15, he said he entered a date of
: User age = at birth which made him 18 when profile
More than 5 18+ 13-17 ot (2l 616 e, g was set up. He's been on the platform for
years assume DOB at set up least 18 6 years; therefore, his user age is 24,
as 18 years which equates to 18+.
Joe is 9, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t remember 18+ Under 13 Assume DOB at set up g was set up. We don’t know how long he
18 r
(O dires A2 least 18 has been on the platform, so we assume
user age is at least 18.
Joe is 15, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t remember 18+ 13-17 Assume DOB at set up & was set up. We don’t know how long he
as 18 years least 18

has been on the platform, so we assume
user age is at least 18.




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (1)

Scenario 4 (2)

Scenario 4 (3)

Scenario 4 (4)

2) Assume they put
actual age at set up

plus length of time
on profile

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put ] )
Don’t under 13 as their DOB at Joeis 9, he doesn’t rem(lember what DOB
Between 0-5 , set up. Therefore, User age = at he used at set up. He's been on the_
know/Don’t Under 13 platform for 0 years, therefore, assuming
assume they put age 13
months b y putage 1. least 13 he had to enter 13 as DOB, his user age is
remembper Assume length of time at least 13.
on profile as 0 years.
Joeis 15, hed "t b hat
Don’t Userage = actual || ;051 uled ot set up, o we assume i
Between 0-5 , Assume length of time ; P :
know/Don t 13-17 fil 0 age plus |ength of matches his actual age (as he is over 13).
months b it [Aielis 65 & Al . fil He's been on the platform for 0 years;
remember time on protie therefore, we assume his user age is 15.
Child cannot have put ] )
Don't under 13 as their DOB at Joe is 9, he doesn’t rem(lamber what DOB
Between 6-11 , set up. Therefore, User age = at he used at set up. He's been on thg
k D t Under 13 platform for 1 year, therefore, assuming
nowy/uon assume they put age 13
months remember A ] yih fgt : least 14 he had to enter 13 as DOB, his user age is
ssume length of time at least 14.
on profile as 1 year.
1) If calculation makes child under 13 at set up
e.g.Joe is 13, he doesn’t remember what DOB
he used at set up.
Assume length of time 1) User age = at least He’s been on the platform for 1 year;
. therefore, he would have been 12 when he
DO n't on proflle 0 AL e 14 signed up, so would have had to enter DOB as
Between 6_11 , 2) User age = actual 13. Add length of time to this (13+1) which
kn OW/DOH t 13-17 1) Assume they put meant he has a user age of 14.
months DOB as 13 at set up age/age at set up 2) If calculation makes child over 13 at set up
remember e.g. Joe is 15, he doesn’t remember what DOB

he used at set up. He’s been on the platform
for 1 year; therefore, he would have been 14
when he signed up. Add length of time to this
(14+1) which meant he had a user age of 15
(same as actual age).




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (5)

Scenario 4 (6)

Scenario 4 (7)

Scenario 4 (8)

profile

Lengthof timeon  DOB atset up (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Don’t User age = Joeis 9, he doesn’t remember what DOB
_ . he used at set up, but we assume at least
Between 1-5 K Don't Under 13 Assume they put DOB 13 (assume minimum R ———
nowysvon as 13 at set u, 13) plus length of t
years p. plus iength or time 3 years; therefore, his user age is at least
remember on profile 16.
1) If calculation makes child under 13 at set up
e.g.Joe is 15, he doesn’t remember what DOB
1) User ag_e _= 13 He's been T)?\ :;zdpfst;(e):nl:l\pf.or 4 years;
(assu me minimum therefore, he would have been 11 when he
Don’t 1) Assume they put 13) plus length of time signed up, so would have had to enter DOB as
Between 1_5 , DOB as 13 at set up on profile 13. Add length of time to this (13+4) which
knOW/Don t 13-17 meant he had a user age of 17.
yea rs 2) Assume they put 2) User age = actual 2) If calculation makes child over 13 at set up
remember actual age at set up age/age at set up plus e.g.Joe is 15, he doesn’t remember what DOB
Iength of time on he used at set up. He’s been on the platform
. for 2 years; therefore, he would have been 13
proflle when he signed up. Add length of time to this
(13+2) which meant he had a user age of 15
(same as actual age).
User age = ) ,
’ Assume they put DOB Joe is 9, he doesn’t remember what DOB
More than 5 Don’t , as 13 at set up. ] 1'3 (assume. he used at set up, so we assume 13. He’s
know/Don’t Under 13 ) minimum for sign been on the platform for 6 years;
Assume length of time . . :
years rararalbE il g up) plus length of therefore, his user age is 19, which
on projliie as o years equates to 18+.
time on profile
User age =
) Assume thev put DOB Joe is 15, he doesn’t remember what
M h 5 Don’t T 13 (assume DOB he used at set up, so we assume 13.
ore than , as 13 at set up. . g
know/Don’t 13-17 . minimum 13) plus He’s been on the platform for 6 years;
Assume length of time ; ] :
years ) Iength of time on Therefore, his user age is 19,
remember on profile as 6 years which equates to 18+.




Scenario 4 - Children who did not know what DOB they entered at set up

Length of time on DOB at set up (Q8a) Actual age of child Assumption USER AGE Example
profile (Q3) (P3) i

Don't ; Ex’ctll;ded as we )

Scenario 4 (9) Don’t remember know/Don’t Under 13 infor:mafi\;en?z:ager
remember age calculation

Don’t ; Ex’(i[h:]ded as we )

Scenario 4 (10) Don’t remember know/Don’t 13-17 infor:.ma:i\éiiz:)ﬂir
remember age calculation

*Length of time not required for user age calculation for those that have changed their DOB



Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (11)

Scenario 4 (12)

Scenario 4 (13)

Scenario 4 (14)

months

Q8a

DOB as 13 at set up
2) Assume they put
actual age at set up

age/age at set up
plus length of time
on profile

Length of time on DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put
9 Joe is 9, he doesn’t remember what DOB
Don’t remember under 13 as their DOB at b .
Between 0-5 set up. Therefore, User age = at he used at set up. He's been on the_
Q8 so not asked Under 13 th ; iz platform for 0 years, therefore, assuming
months g gssume they put age 3. least 13 he had to enter 13 as DOB, his user age is
Q8a Assume length of time at least 13.
on profile as 0 years.
Joeis 15, hed "t b hat
Don’t remember Userage = actual || ;051 uled ot set up, o we assume i
Between 0-5 Assume length of time . 5 .
Q8 so not asked 13-17 il 0 age plus |ength of matches his actual age (as he is over 13).
months it [Aielis 65 & Al . fil He's been on the platform for 0 years;
an time on protie therefore, we assume his user age is 15.
Child cannot have put ) . )
; Joe is 9, he doesn’t remember what DOB
Don’t remember under 13 as their DOB at , .
Between 6-11 set up. Therefore, User age = at he used at set up. He's been on thg
QS so not asked Under 13 th ¢ 13 platform for 1 year, therefore, assuming
months ERC IR Al ag? : least 14 he had to enter 13 as DOB, his user age is
Q8a Assumeflength of time at least 14.
on profile as 1 year.
1) If calculation makes child under 13 at set up
e.g.Joe is 13, he doesn’t remember what DOB
he used at set up.
Assume length of time 1) User age = at least He’s been on the platform for 1 year;
’ . therefore, he would have been 12 when he
Don tremem ber on proflle 0 AL e 14 signed up, so would have had to enter DOB as
- = 13. Add length of time to this (13+1) which
Between 6-11 Q8 so not asked 13-17 1) Assume they put 2) User age = actual iy

2) If calculation makes child over 13 at set up
e.g.Joe is 15, he doesn’t remember what DOB
he used at set up. He’s been on the platform
for 1 year; therefore, he would have been 14
when he signed up. Add length of time to this
(14+1) which meant he had a user age of 15
(same as actual age).




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (15)

Scenario 4 (16)

Scenario 4 (17)

Scenario 4 (18)

Q8a

on profile as 6 years

length of time on
profile

Length of time on DOB atsetup (Q8)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
= Joe is 9, he doesn’t remember what DOB
Don’t remember LR EE = ’
Between 1-5 Assume they put DOB 13 (assume minimum O UEEE] R SCIE U, (U CROin 2 Lo
Q8 so not asked Under 13 13 lus | h of ti 13. He’s been on the platform for
years gs at set up. 13) plus length of time 3 years; therefore, his user age is at least
Q8a on profile 16.
1) If calculation makes child under 13 at set up
e.g.Joe is 15, he doesn’t remember what DOB
_ he used at set up.
( 1) User ag_e __ 13 He’s been on the platform for 4 years;
’ assume minimum therefore, he would have been 11 when he
Don’t remember 1) Assume they put 13) plus length of time signed up, so would have had to enter DOB as
Between 1-5 Q8 so not asked DOB as 13 at set up on profile 13. Add length of time to this (13+4) which
13-17 meant he had a user age of 17.
years Q8a 2) Assume they put 2) User age = actual 2) If calculation makes child over 13 at set up
actual age at set up age/age at set up plus e.g.Joe is 15, he doesn’t remember what DOB
Iength of time on he used at set up. He’s been on the platform
. for 2 years; therefore, he would have been 13
proflle when he signed up. Add length of time to this
(13+2) which meant he had a user age of 15
(same as actual age).
User age =
Joe is 9, he doesn’t remember what DOB
DOI’\'t remember Assume they put DOB 13 (assume he used at set up, so we assume 13. He’s
More than 5 as 13 at set up. . . ’ :
Q8 so not asked Under 13 ) minimum for sign been on the platform for 6 years;
Assume length of time . . :
years ) up) plus length of therefore, his user age is 19, which
Q8a on profile as 6 years p P g ) equates to 18+.
time on profile
User age =
Joe is 15, he doesn’t remember what
Don’t remember Assume they put DOB 13 (assume DOB he used at set up, so we assume 13
More than 5 as 13 at set up. - A ’ '
Q8 so not asked 13-17 A lenath of ti minimum 13) plus He’s been on the platform for 6 years;
years ssume length of time Therefore, his user age is 19,

which equates to 18+.




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (19)

Scenario 4 (20)

Length of time on DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Excluded as we
don’t h h
Don’t remember Don’t remember Under 13 in?onrma;\:;ig?zfer
age calculation
Excluded as we
don’t h h
Don’t remember Don’t remember 13-17 on‘thave enoug

information for user
age calculation

Scenario 5 - Children who changed their DOB* since setting it up to their

actual age

Scenario 5 (1)

Scenario 5 (2)

DOB once changed Actual age of child Assumption USER AGE Example
DOB Changed to Assume DOB now is 13 Joe is 9, he changed the DOB on his profile to his actual age
tch actual Under 13 et User aze =13 (which we understand may not be possible due to minimum
match actual age y g€ = age requirements). As the profile cannot be under 13, we
13
(Q6) assumed user age is 13.
DOB changed to _ | . . . .
match actual age 13-17 User age = actua Joe is 15, he changed the DOB on his profile to his actual age.

(Q6)

age

Therefore, his user age is now 15.

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (1)

Scenario 6 (2)

12 (Q7)

13

the user age is

lower than the
actual age)

Excluded from
calculation

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB so ;
f'Ig is 10 Under 13 '255531’:6 cDa?’:iZZWIQSdﬁ U =13 Joe is 9, he changed the DOB on his profile to 11. As the profile
profiie age Is B naer y 13 Y Serage = cannot be under 13, we assumed user age is now 13.
12 (Q7)
1 U 13 (If 1) If the user age is above or equals the actual age: Joe is 13,
) S€rage = ,( he changed the DOB on his profile to 11. As the profile cannot
the user age is .
be under 13, we assumed user age is now 13.
above or equals
the actual age) . ]
Changed DOB so Assume DOB now is 13 . 2) If the user age is lower thar'm the a'ctual age:
. . ) Joe is 14, he changed the DOB on his profile to 11. As the
profile age is 10- 13-17 as they can’t be under 1)  Userage =13 (If

profile cannot be under 13, we assumed user age is now 13.

But his user age now is lower than his actual age, because the
research only looks at children whose user age is older than
their actual age, this case will be excluded from the user age

calculation

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (3)

Scenario 6 (4)

Scenario 6 (5)

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB so User age = new o, he chansed the DOB o h etoh )
. . Joe is 9, he changed the DOB on his profile to be 14. Now his
profile age is 13- Under 13 age after DOB e
ge is 14.
17 (Q7) change
1) If the user age is above or equals the actual age:
1) Userage=new Joe is 15, he changed the DOB on his profile to be 16. Now his
age ::1fter Dbt user age is 16.
change 2) If the user age is lower than the actual age:
Changed DOB so 2) User age = new Joe is 15, he changed the DOB on his profile to be 14. Now his
profile age is 13- 13-17 age R user age is 14.
17 (Q7) | However, his user age now is lower than his actual age,
ower than the . .
actual age because the research only looks at children whose user age is
Brlalad] e older than their actual age, this case will be excluded from the
calculation user age calculation
Changed DOB so User age = new
. & . Assym? DOB after Joe is 9, he changed the DOB on his profile to be 18. Now his
profile age is 18+ Under 13 changing it makes them age after DOB user age is 18
(Q7) at least 18 years change '

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (6)

Scenario 6 (7)

Scenario 6 (8)

remember (Q7)

age calculation

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB so User age = new
. & . Assymg DOB ajter s Joe is 15, he changed the DOB on his profile to be 18. Now his
profile age is 18+ 13-17 changing it makes them age after DOB e 5 6
(Q7) at least 18 years change g '
Changed DOB - Excluded as we
Don't Under 13 .don t haye enough
know/Don’t information for user
remember (Q7) age calculation
Changed DOB - Excluded as we
Don’t don’t have enough
13-17 . .
know/Don’t information for user

Scenario 7 - Children who changed their DOB* since setting it up to another
age that is not their actual age but does not remember or does not want to

say what age it was changed to

Scenario 7 (1)

Changed DOB -

Excluded as we

Scenario 7 (2)

Don’t Under 13 don’t have enough
remember/Prefer information for user
not to say (Q6) age calculation

Changed DOB — Excluded as we
Don’t 13-17 don’t have enough
remember/Prefer information for user

not to say (Q6) age calculation

*Length of time not required for user age calculation for those that have changed their DOB
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